Practice Sheet

Goly

Club
V1 V25 33 82 16 +4 =
22 8x8= V49 43 63
56+ 8 = 13 V121 V81 92
7x8= V9 7x5= 122 123
113 6x9= V1 103 V100
V144 g3 32 85+ 5= 2Xx3=
16 +2 = 5x7= 8x2= 53 23
43 64+ 8= 93 56+ 8 = 12x12=
6x3= V64 11x12= |V25 V4
73 36 +9=  |V144 24 +2 = 2x4=
v81 5x7= 13 42 73
3x6= 103 2x3= 123 V49
V16 9X 6= V36 8x8= 60+ 5 =
6 53 81+9= 3x5= V16
23 102 72 3x12= 52
V4 3x10= 83 33 10x 11 =
70+ 7= V100 121+11= |55+5= 93
V36 33+11= |113 V9 3x2=
9+1= 63 3x10= 112 V121
10x10= |21+7= V64 28 +7= 8x9=

Total in 3 minutes:




